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Group) From Y- 1Y !'-_::_
Model answers: (1-3) -
\- d/ are of different sizes ;F
Y- ¢/ move to a different organism OR b/ stay in the same cell =

v_ a / the reason of the disease

t- b/ flu
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E e. ¢ / the exact infection

=2/ viruses
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Remarks from (*-%)

i e are accepled.
¥. Onlv the above mentioned answers are P

; - rre.sr_.ur'l
... or the letter that co g [
r. Either the correct choice 07 and capitalization.
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Model answers from (¥-*7)

v. F / false
A-T /true |
3-T [ rue

‘.. F 1 false
viv- F [ false
V- T e

remarks from (¥-17)

v Each item 15 allotted Y+ marks. r
v. Only the above mentioned aNSWErs arc accepiet:

; . answer is accepted.
- {f the student writes only the correction , the ans

': anv sign that shows trug of
¢ L /rea)in French or Russian oran SIgN
<_ If the student writes ( =

., i EEFI'U.'LL ) no X
false , the answer 15 2¢ . S zero except no.'.
f 1h dent writes LW ansWwers for the same item, the answer rales
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Model answers (\*=T4)
‘Yo b/ protect

V. d/ escape

Va. ¢/ cardiologist

Vi by promaolion

\Y- a / made

YA- ¢/ disconnected

V4. a /give him pumpkins
Y+. d/ join the ranks of
V. ¢/ shored up

T al/fitinOR Dbl getin
Y a /will buy

Ti- b /15 being watched
"2-b / met

T5-a/ had lefi

Remurks from (‘7 -r4)

1- Each item s allotted = marks.

U= Either the letter or the complete answer is accepted or both.

T- It the student writes two

number, Y

- Overlook copying mistakes.
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Group ¥ From ‘T -TA

T

Tvo ¢/ fails

YA- g /s changing
YA, b/ was bom

Y+« —n/ he exhibited
Y. ¢/ had it repaired
T b/ ¢an surf

TT.d / which

Yi g/ was able

TYo. b/ bet

¢ /finished

TV. d /1y to practice more

Th-¢ (noproblem

answers for the same item, the answer rates zero. Excem
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- Mode ANSWers (74.41) :
F #
" ™. H ' : :
~ OwW Olte . | :
» } €n / How many times does Rana cut her hair (3 rﬂﬂﬂth} 3
: “ Why will Al jeqs e early? E
: - For what reason will All leave e: iriv'? :
t - What will miake Ali'leave carly for?
Where did he meet his friend?

T 11!

“In which/ what place did he meet his friend?
*T- What has Hani planted in his garden?

Remarks from (Fa-t1)
Each item is allotted * marks.

FEREPFERERNBED

II'the student uses a wrong question word, the answer rates zero.

T3
i

Deduct Y mark for each grammar mistake.

t« Il the studem writes two questions for the same answer, consider the first.

°- Ohverlook capitalization and punctuation mistakes.
= Overlook spelling mistakes unless they give rise to another meaning. If so, dediict one

mark.
Y. Only the above answers are accepted.

Model answers (t7-17)
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= tT- b/ improves
I ti.a/ who
E t2. 4/ me ~

1% ) see
Remurks
- Fach corrected item 15 allotted * marks,

T-If the student writes the correct choice only without rewriting the whole sentence

the answer is accepted.
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E Group ¢ Composition I

Remarks: |
s (r- marks) are allotted to this 1tem-

v.Before starting the correction of t

reading to the whole paragraph to figure out if it is relevant to the topic or not.

r.Ifastudent writes more than the required number of words, his/her topic is

:

£
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T

he composition, the teacher should make first E

£

£

accepled. C

£ Deduct ® marks for each missing tip, except for the second tip, deduct '+ marks. :

s- 1f all tips are missing, the composition rates zero.

- 11 the compesition is 1n a form of a letter or an email, it is accepted.
a- On average, a paragraph between ¥) -A. words rates (7 marks).

( T+ marks for the content and ' * marks for the package of grammar and

punctuation,
b- A paragraph between 1'-Y: words rates (YA marks).

|

(Y- marks for content and A marks for punctuation, spelling and grammar ).

S+P = t marks G = ¢ marks
¢- A paragraph between = -1- words rates (¥ marks).

(VA marks for content and A marks for punctuation, spelling and grammar ).

S+P = & marks =t marks

d- A paragraph between £)-2. words rates (*r marks).

it [ [
(1% marks for content and » marks for punctuation, spelling and grammar ).
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mi ﬁ?ﬂ#“ content and ® marks (o punctuation, spelling and grammar ).
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(% marks for (“'FEJTPJr d't marks for punctuation, spelling and grammar ),

SHP = Y m; rks G

N.B. - Overlook the firs; grammar, the f ﬁ;f:ppnll'lng_ﬂnd the first punctuation

mistake i.ﬁl,h Jlf m H(t:; rl- |"_]J B

,I‘ |'|'r 2% Draer, IIH-”-'*IJHJ i!|:'. .H_Fl"r I“,j ‘HH”‘T]‘J’? r(ﬁ ‘mmtunlﬂn“a

|
L
F |
J: -.F;:_j_
r
| - St A -‘-ﬁ ﬁ-
f'l:l ‘“Jr -'J|"|II Irar 1r |||F| JI" Illlrllr ]I ri‘il] 'r"j l' T*;I."T‘ILf"j II punutunllﬂn‘
|: .
¥ g i | L 5 i f | R S B ey | o |}
f Deduct \ mark gnee for the same repeated mistakes :
r E
I Ell
1 B
! i -
r I
r‘
il |I || I l
B v N 1
: .I' L Ih"r!l ‘
Tt ' I
F +
| C
r s .
: [ |
If:, ! 1] nli
_'l .'li-'. l
| & ‘ I
IR — — - ‘1_'
f: ' { AR ala i a r i~ re N ¥k r"'ll-rl"l |."".-. i‘ r1-. ,']',n'}['l,-,"'[";.;r{_'ﬁ' ﬁ I:.
| ; " ) ke’
F. r . e e e e s ‘
.If ol H B i rrr AL T rrrrrrerrerr *I"I'T"] LTI -1'1'1"""“"“““'



	1
	2
	3
	4
	5
	6

